EECS2011 Fundamentals of Data Structures
(Winter 2022)

Q&A - Week 3 Lecture

Thursday, February 3



Announcements ¢ cht

- Lecture W4 released (SLL| and generics review)
- Assignment 1 (on SLLs) released on Monday.
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Counting_the Number of Nodes without a Loop? :

public class Singlyidnkedidist | YO\A tan Md[j 'Hle AIOJPﬂCk”

private Node head = null;
public void setHead(Node n) { head = n; }

public int getSize() {[-. d ]/J(
public Node getTail () '

public void addFlrst(Str:Lng e) { ...}
public Node getNodeAt (int i) { ... } Yet\ﬁ‘/ﬂ Lw ﬂﬂAl[ 7 0

public void addAt (int i, String e)
public void removeLast() { ... } ; 20( <
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public class Node ({
private String element;
private Node next; - <w" -t == Jll>
public Node(String e, Node n) { element = e; next = n; } ¢ (S'WET YI
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public Node getNext () { return next; } ; ~
public void setNext (Node n) { next = n; } el(e i@_ﬁ | M.ﬂm. 48‘&&2”
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Problem on SLL: Reversing a Chain of Nodes
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B"BAQ N public Node<String> reverseOf(Node<String> input) {
¥ —> Node<String> reverse = null;
* : > Node<String> current = input;

ﬁwhlle(cur'rent I= null) {
—-)Str'lng e = current.getElement(); o/

_; ~—> Node<String> n = new Node<
n.sethNext(reverse) |
public void test() { reverse = n,
ListUtilities util = new ListUtilities(Q); —>» current = current.getNext(Q);

}

return reverse;

V4
Node<String> input = null;
Node<String> output = util.reverseOf(input);
assertNullCoutput);

_»1input = new Node<>("Alan", new Node<>("Mark", new Node<>("Tdm", null)));
A output = util.reverseOf(input);

assertEquals("Tom", output.getElement());

assertEquals("Mark", output.getNext().getElement());
assertEquals("Alan", output.getNext().getNext().getElement());
assertNull(output.getNext().getNext().getNext());




Problem on SLL: Reversing a Chain of Nodes
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